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The demand curve for a normal good shift leftward if income or the
expected future price

A) ;‘ﬁ‘i b5 "% M decreases; falls

B) Bt 5= decreases; rises

C) #*:

=3
"% ™ increases; falls
D) #4: 23

increases; rises
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If the price of chicken falls, then the market for beef
A) 2 512 £4 R L4 the demand curve for beef shifts rightward.

B) £ ¢ #F 4 5 = # the demand curve for beef shifts leftward.

C) ¢i-F 2P eng Fo & LT A & there is a movement downward along
the demand curve for beef.

D) §ir¥F 2P g R &+ L+ 45 # there is a movement upward along the
demand curve for beef.

iﬁﬂrﬁﬁvf}iﬁjﬂ’@—* EX7 g% BB

If the price of salt increases and the quantity demanded does NOT change, then
A) 5 REM % > 0 the price elasticity of demand is equal to zero.

B) ¢ #&_% 2> & 34 demand is perfectly inelastic.

C) 7 Fo BiE_-k-T 4 the demand curve for salt is horizontal.

D) A% B ¥ %4t s Bothanswers Aand B are correct.

4) do% B ewei g F R g e 41"1'}}“:% e R SEM e }Fz% .

R et T L o

If tea and coffee are substitutes, the cross elasticity of coffee with respect to the
price of tea will be and an increase in the price of tea will the
demand for coffee.

A) positive; increase

B) negative; decrease

C) negative; increase

D) positive; decrease
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Nick can purchase each milkshake for $2.  For the first milkshake purchased
Nick is willing to pay $4, for the second milkshake $3, for the third milkshake $2
and for the fourth milkshake $1. What is the value of Nick's consumer surplus
for the milkshakes he buys?

A) $2
B) $9
C) $3
D) $10

Price (dollars per CD)

: D =MSB
1 1 1 1 l 1 1 1 1

o 1 2 3 4 5 6 7 9 10
Quantity (millions of CDs per month)
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In the figure above, when the price of a CD is $8.00, the total producer surplus from
all the CDs (the equilibrium) will be

A) % zero.

B) & i CD *$10 % greater than $10.00 per CD.

C) $20 million.

D) $10 million.
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The price elasticity of demand for wheat is 0.42. A drought cuts the supply of wheat.
What will happen to the farmers' total revenue?

A) )z~ H#i4c The total revenue will increase.

B) 4z » &> The total revenue will decrease.

C) &z~ # % The total revenue will not change.

D) #& ;% 2%t There is not enough information to determine what happens to the total
revenue.
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Good A and good B are substitutes in production. The demand for good A increases so
that the price of good A rises. The increase in the price of good A shifts the

A)B A& 5E F4 s = # demand curve for good B leftward.

B) B & &F & s+ # demand curve for good B rightward.

C)B & &k a4 2 = # supply curve of good B leftward.

D)B A& & d s+ # supply curve of good B rightward.

Quantity Total utility Marginal utility
0 0
1 250
2 180
3 580
4 700
5 100

Q) JLt F AT B $E I A R RORY Y gt o - T AR AR Y

The above table gives some of Tammy's total and marginal utilities from apples.
Which of the following statements is TRUE?

A) B % = B % g §580/3 Tammy's marginal utility from the
third apple is equal to 580/3.

B) &4 i 7 S # % ik £ 800 Tammy's total utility from five apples is 800.
C) B il 7 % - B gy [ 303 % = B % chf % * Tammy's
marginal utility from the first apple is less than her marginal utility from the third

apple.
D) it % % & - i #/£None of the above answers are correct.
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Quantity of | Marginal utility | Quantity of | Marginal utility
DVDs from DVDs pizza from pizza
1 150 1 200
2 120 2 180
3 100 3 150
4 90 4 120
5 60 5 100
6 40 6 60

10) B 35 #de eh9id #1 @75 A4k EEDVDS ) o A B K5 T 44 52 DVDs
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Lisa spends all her income on pizzas and DVDs. The above table shows Lisa's
marginal utility for pizza and marginal utility for DVDs. If the price of a pizza is $10,
the price of a DVD is $5, and Lisa has $40 to spend on the two goods, what
combination of pizza and DVDs will maximize her utility?

A) 6 DVDs and 1 pizza

B) 4 DVDs and 2 pizzas

C) 2 DVDs and 3 pizzas

D) 5 DVDs and 4 pizzas

11) = 254 B p =l -

In the short run a perfectly competitive firm will

A) J€* ¢ B B never shut down.

B) 4% P <ATCRl ¢ B F  shutdown if P <ATC.
C) 4%P<AVCR| ¢ B B  shutdownif P <AVC.
D) 4-%P>AFCR] ¢ B FF shutdown if P > AFC.
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Water has a marginal utility and brings a consumer surplus;
diamonds have a marginal utility and bring a consumer surplus.

A) small; small; large; large
B) large; large; small; small
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C) small; large; large; small
D) large; small; small; large

13) kergger i v R A AR R EY -

The paradox of value can be resolved by distinguishing between
A) 7 &£ & £ & § quantity demanded and quantity supplied.
B) k%2 ik 4§ supply and quantity supplied.

C) ¢ ¥ 2 £ & demand and quantity demanded.

D) X»c* 22:8% 2% total utility and marginal utility.
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Quantity (thousands of units per year)
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Which area in the above figure shows the consumer surplus at the price and quantity
that would be attained if the industry were perfectly competitive?

A)A+B+C+D

B)A+B+C+D+E

C)F+G+H

D)A+B+C+D+E+F+G+H
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Which area in the above figure shows the producer surplus at the price and quantity
that would be attained if the industry were perfectly competitive?
A)A+B+C+D+E

B)C+D+E+F+G+H

C)F+G+H
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D)F+G+H+I+J+K
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Which area in the above figure shows the consumer surplus at the price and quantity
that would be set by a single-price monopoly?

A)A+B

B)A+B+C+D+E

C)C+D

D)C+D+E+F+G+H

17) YW R ek A8 - bk AF 4 R F e R
Which area in the above figure shows the producer surplus at the price and quantity
that would be set by a single-price monopoly?

A)C+D

B)C+D+E

C)C+D+F+G

D)C+D+F+G+I

18) & P BT fE Aok FEH - T R b AFE o AR 2L AL R
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In the above figure, if the market was a single-price monopoly rather than perfectly
competitive, which area shows the transfer of consumer surplus from consumers to
producers?

A)A+B

B)C+D

C)C+D+E

D)E+H

19) € BT 3o 4ok HEHE - T piE AL o PIEG A AT R 7
In the above figure, which area is the deadweight loss from a single-price monopoly?
A) E

B)E+H

C)E+H+K

DYE+H+K+1J
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When a monopoly perfectly price discriminates, there is
A) 13 2 é—“ﬁ F14#no producer surplus.

B) &3 4 anincrease in supply.

C) X7 i % & #14no consumer surplus.

D) 7 #~ if i # #14 alarge consumer surplus.

Component Ar_nc_)unt
(billions of dollars)

Net taxes(:% f.3F) 1,635

Personal consumption expenditure (i} ¥ ) 5,566

Depreciation (47 %) 622

Government expenditure (Fz /2 ) 1,784

Gross investment (£ 3£ ) 1,234

Exports(d! v ) 057

Imports(:& ) 1,138

Household saving (& % 1,202

21) 4ot % - GDPE_% >?
Using the data in the table above, what is the value of GDP?
A) $13,516 billion
B) $10,679 billion
C) $9,541 billion
D) $8,403 billion

22) 4ot A o Mv @E 500
Using the data in the above table, what is the value of net exports?
A) -$181 billion

B) $181 billion
C) $957 billion
D) -$957 billion
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Using the data in the above table, what is the value of national saving?
A) $1,202 billion

B) $2,837 billion

C) $1,053 billion

D) -$85 hillion

24) AR I g V- fAA FH 4?
Which type of unemployment increases during a recession?
A) I ME% % cyclical unemployment
B) A=+ 4 % frictional unemployment
C) %24 ¥structural unemployment
D) B i+

A

N

¥ Z the natural unemployment rate

25) 4 & & K CPIE 1223 5 4 & & K hCPIE 1245 > Rligs & fF eid b Wk
2500

If the CPI was 122.3 at the end of last year and 124.5 at the end of this year, the
inflation rate over these two years was

A) 1.8 percent.

B) 2.5 percent.

C) 22.5 percent.

D) 18.0 percent.

26) 4e%ix ¥ s A 5 3% 0 4247 5 A0 8575 billion v RBI42i7 F 45 7

If the desired reserve ratio is 3 percent and deposits totaled $575 billion, banks would
hold

A) $534.75 billion % 2t $534.75 billion in reserves.

B) $17.25 billion A *% 5 #¢ $17.25 billion in unplanned reserves.

C) $1,725 billion & § $1,725 billion in currency.

D) $17.25 billion 7% #c $17.25 billion in reserves.
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In the year 2022, U.S faces persistent inflation, so implement
A) ¥ 5% 14 p4 rec i expansionary fiscal policy

B) E'f HRliti M s i contractionary fiscal policy

C) # % £ p % ¥ K expansionary monetary policy

D) Bf Mg+ j % sege i contractionary monetary policy

28) B HEF R

Quantitative easing...

A) ¢t B A &fiplaces a tax on foreign goods

B) 4| & B 72t WA &4 & £ limits the number of foreign products sold in a
country

C)ie * ¥ & &7 WpE F Ainvolves purchasing assets using central bank

money

D) %X B 734 +c f involves increasing the quantity of tax in a country

Real

GDP C | G X M
100 75 25 95 10 1
200 | 150 25 95 10 2
300 | 225 25 95 10 3
400 | 300 25 95 10 4
500 | 375 25 95 10 5
600 | 450 25 95 10 6
700 | 525 25 95 10 7
800 | 600 | 25 95 10 8
900 | 675 | 25 95 10 9
1000 | 750 | 25 95 10 10

29) et & > CEY P A I IERT > Grefpdt o Xdir > MAsgr > B = &
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In the above table, C is consumption expenditure, | is investment, G is government
expenditure, X is exports, and M is imports. All entries are in dollars. What is the
marginal propensity to consume?

A) 0.20
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B) 0.25
C)0.75
D) 0.80

30) % Fed§ e/ % %7 #4817 » RIFedshrc i | A 4o 32 557

When the Fed sells government securities to a bank, how are the Fed's assets
affected?

A) Fedhirc - F A #ic € & ° The amount of the Fed's government securities
decreases.

B) Fed:rsc i F A # £ # 4« The amount of the Fed's government securities
increases.

C)Fediz 3 <1} 7 # & 3+« The amount of liquidity held at the Fed increases.

D) Fed# 7 7§ i #& & > The amount of liquidity held at the Fed decreases.

1) Fed=> B # -3k (¥p % > PFed RS S € 4175 3% o
In an open market purchase, the Fed government securities, which

bank reserves.
A) buys; increases
B) buys; decreases
C) sells; increases
D) sells; decreases

32) Fdc g g~ Aok

The multiplier is larger if the

A) gy e # ~ marginal propensity to consume is larger.
B) :#F2tEE v # ~ marginal propensity to save is larger.

C) #*r#@ 5 g % income tax rate is higher.

D) #%ir iie # ~ marginal propensity to import is larger.

33) 715 COVID-19i {7 7 o - % Renwi 2t p 4R 4] 5 2.2021# £ 5 7

Due to the COVID-19 pandemic, how much was the federal funds rate target in the
year 2021 in the US?

A).0

B). 1.

C).-1

D). 1.5

10
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The demand for money curve shifts rightward if

A) % P 15 < the nominal interest rate falls.

B) £mf#4liE R & HF & financial innovation creates new substitutes for
cash.

C) % =73+ real GDP increases.

D) # % -k #7 g% the price level falls.

35) £ flFrEK Pt g A o

A decrease in the nominal interest rate the opportunity cost of holding
money.

A) 3 4 increases

B) /&> decreases

C) ¥ #+c & > can increase or decrease

D) m 1 ¥ % & - i #£None of the above answers is correct

Costs per unit (dollars per unit)

0 20 40 60 80
Quantity (units per day)

36) 4t B > Cw %R F_ o
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In the figure above, curve C is the

A) L 3=aF 2 = » average fixed cost
B) T =% # = & average variable cost
C) =4 = & average total cost

D) ##"% = & marginal cost

37) 4ct Bl 0 Ad RE_ °

In the figure above, curve A is the

A) I 35% 7 = » average fixed cost
B) I35% % = & average variable cost
C) T4 = & average total cost

D) #% = & marginal cost

38) 4t B > B A o

In the figure above, curve B is the

A) T 35F 7 = & average fixed cost
B) I35% % = & average variable cost
C) T35 = & average total cost

D) ##"% = & marginal cost

39) 4ot Bl 2 A20E e &

curve.

curve.

curve.

In the figure above, when 20 units are produced the marginal cost is

A) | *+$8
B) $8.

less than $8.

C) £+ $8¥$16~ more than $8 and less than $16.
D) it ¥ % & - & #/£ None of the above answers is correct.

40) 4ot B > 2 A40H T E A A E
In the figure above, when 40 units are produced the average fixed cost is

A) $4.
B) $8.

C) $12.
D) $40

12



